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ABSTRACT: The purpose of this 
research was the analysis of relationship 
between demographic characteristics of 
students and their satisfaction about 
educational quality in Imam Khomeini 
Higher Education Center. Research 
method of this study was descriptive and 
correlational method. Statistical 
population of study were students who 
involved in Imam Khomeini Higher 
Education Center (N=2264). Sample size 
was determined by Cochran’s formula 
(n=168). Sampling method was stratified 
random sampling. Research instrument 
was questionnaire. Face and content 
validity verified by faculty members of 
agricultural extension and education.  
Also, reliability of instrument was 
determined by Cronbach's alpha (α = 
0.71-0.87). Descriptive results showed 
that student satisfaction about “quality of 
educational management and rules” was 
highest priority but their satisfaction 
about “quality of educational facilities 
and infrastructure” was lowest priority. 
Generally, satisfaction level of students 
about educational quality was assessed 
relatively favorable. Inferential statistics 
results showed that there is a positive and 
significant correlation between variables 
such as age, job background, average, 
satisfaction of major and satisfaction of 
educational quality. 
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1. Stratified Random Sampling 
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1. Follow up study 
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r Sig r Sig r Sig r Sig r Sig 
9� **25/ 008/0 **20/0 027/0 11/0 23/0 10/0 26/0 *21/0 02/ 

,=��� �?e� 18/0 09/0 *23/0 03/0 *26/0 03/0 03/0 78/0 *22/0 04/ 

��B� *21/0 03/0 01/0 32/0 03/0 79/0 *24/0- 02/0 *19/0 05/ 

 �: -��D�
���� �?�[80 

**29/ 001/0 16/0 07/0 **26/ 004/ *22/0 02/0 **29/ 001/ 

 **01/0p≤       *05/0p≤    
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 -� E�3T  � 3�G
 

L += -UT��K�����	 -�  E���	 �:t ��� .�� M
�K��:� Z+=-�
 M��	 L 
:
 E��� +
 ;v�G:HB���:
C =��D� 9��F��:
 -�E� 3T  � 3�G
  �= +<=:� �
L 
�B=:�K� -

����	� 
�:�� 
���. +=W��U�
�3S� ��E:�0  � 3�G
 E���F��:
 -��D� E:��� -K@
+J:�: �����	 -�K�L �= +<=:� �
 3T   += M���I�	  �:3` ���T�� c��UT� b<� �
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) ����5.(  
 J�,�)5( 7��?)F "
����� 	! ��& !���	 '	 #��(��'�)% �� :(� ���) ��7�� L125n=(  

,�� 

) !1)32n=( ) #'93n=( 

t Sig. 
�S ��) 
 E	1� 	


���) 

�S ��) 

 E	1� 	

���) 

L�K���8� -C ���3= �� ��
� 58/3 28/0 61/3 25/0 67/0 51/0 

L�K���0 -�E����� 
3�?�� � � 54/3 29/0 48/3 22/0 01/1 32/0 

L�K��� -�3��:�` �-� W:�3,� � 9�����	 03/4 16/0 02/4 16/0 22/0 83/0 

L�K�IF0 � W�����: -�����	 W:�� 44/3 33/0 43/3 24/0 115/0 91/0 

&�(��'�)% �� 64/3 22/0 65/3 17/0 24/0 81/0 
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���� 	! ��& !���	 '	 #��(��'�)% �� D�� K�?) ]�6	 1���� ��� 	!�#�  
�+�.���C +=-�
 M��	  E���	 �:t = +L 
:
 E����[80 x<,� 9�?� �F��:
� � E�

�D�� -�I�	 L �:�K�����	 -�  ;v�G:HB���:
C ) 
�:�� 
��� ����6.(  +F��� 9�:
 E�������
  x<,� E���F��:
 -��D� +L (M�) �H��G N��: ���� ����	 �L3� �


:�: �����	 -�K�L += -UT� ���H���L � ��:
��L+J  += M���I�	  E�T��-�:  += �
 ��:�Hu W��K0 M�3@ �
 9�: C���	 ��8����= .���:��  

  

  

 J�,�)6( 7��?)F �"
���� 	! ��& !���	 '	 #��(��'�)% �� '	 1^  D�� K�?)��� ��� 	!� #�
)117n=(  
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 	!
�&� )81n=( 6���
�&� )36n=( 

t Sig. 
�S ��) 
���) E	1� 	 
�S ��) �) E	1� 	
�� 

L�K���8� -C ���3= �� ��
� 60/3 23/0 62/3 28/0 69/0 49/0 

L�K���0 -� 
3�?�� � �
E����� 

46/3 16/0 54/3 31/0 72/1 08/0 

L�K��� -�3��:�` �-� � 9
 W:�3,������	 

00/4 97/0 05/4 21/0 46/1 15/0 

L�K�IF0 � W�����: -� W:�
����	� 

41/3 16/0 46/3 35/0 97/0 34/0 

&�(��'�)% �� 62/3 12/0 67/0 24/0 50/1 14/0 

  
�?)�7F �"
���� 	! ��'	 #� & !���	�(��'�)% �� ��
 ]�6	 1�F ��� 	! ���D���#�  

�����:���L r�3L E���	 �: >&�X Z� E��� �����
  ;v�G: +LHB���:
C =���� 9� 
[80�?� �F��:
��D� � E�� -�I�	 L �:�K�����	 -� �
�:�� 
��� +=�U�W� 
�3S� 
�D���F��:
 -� E�+�����C [80 m?�\��?� L m?�\� 
�B=: += -UT��K� -

����	� ��� ����	 �L3� �
� �G N��:�H� ��� �=� 3S� E�T�-�:  ����)7.( 
J�,� )7( �?)�7F �"
���� 	! ��& !���	'	 #��(��'�)% �� 1���
 ]�6	F ��� 	! ���D���#�  

Q�)�1  
1  

)45n=( 
2  

)25n=( 
3  

)15n=( 
4  

)29n=( 
5  

)29n=( 
6  

)29n=( 
�&� 

�:6	�1 Sig. 
Mean Mean Mean Mean Mean Mean 

���3= � C��8� -�K�L� ���
 04/64 96/60 97/49 67/63 80/63 04/59 11/2 83/0 
����0 -�K�L  
3�?�� �

E:
���: 
12/56 38/68 06/62 67/76 43/59 21/61 64/2 75/0 

 � 9��:�` �-�3��� -�K�L
W:�3,� �����	  32/57 42/62 38/82 67/59 48/60 54/44 01/10 07/0 

W:��IF0 � W�����: -�K�L 43/66 16/60 50/51 33/88 98/54 25/58 90/4 44/0 
��'�)% ��(�& 13/63 84/59 25/62 33/86 55 42/57 49/2 78/0 

1- ��0�@ W:����� �2- ���3� �+B��0 � -3-  ���G � d	4- �:
 N�?�� �5- x=�H� UY�B�  �6- H.� ���� ��{  
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 E��� 
:
v�G: +L ;HB���:
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 [80�?� �F��:
��D� � E�� -�I�	  
�B=: �:
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�:�� 
�����F��:
 -��?� E�� 
3=��L VC� ���
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 +L�[80 += ��e�� E	 �
 E��> �H�T�� w]0�3  3=
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 J�,�)8( 7��?)F �"
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 �)!�8�  
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F Sig. 
��S���9 

;:38�: 
B���� 

��S���9 
;:38�: 

B���� 
��S���9 

�:;:38 
B���� 

L�K���8� -C ���3= �� ��
� 63/3  25/0  61/3  24/0  58/3 27/0  44/0 64/0 

L�K���0 -��  
3�?�� �E:
���: 52/3 32/0 50/3 17/0 47/3 19/0 60/0 55/0 

L�K��� -�3��:�` �-� W:�3,� � 9
�����	 

02/4 21/0 00/4 12/0 04/4 13/0 41/0 66/0 

L�K�IF0 � W�����: -�W:� 45/3 31/0 42/3 17/0  42/3 28/0  17/0 84/0 

&�(��'�)% �� 66/3 22/0 63/3 12/0 63/3 17/0 35/0 70/0 

� ����1�� b�� �  
:�,80 9� 7�= ;�� <=:� >�?80� ��@A�C�� -�B�� -��D� � E���F��:
 ��G�H�
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.�� �+�.���C ,80�� +L 
:
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� �=����:��
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� �=�S��� 902/4 L �= +<=:� �
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